V Atable s atregy o,
| andabo¥ S atreg
 forceexemted by
sy g taken 88 the o
L reaction force jg the

(A) EO)‘;CE exerted by the table on (he
0

na honzonla| floor
ton the table. Ifthe,
e Earth on the boX

Ctron force the

(B) Force eXerted by the box on the.'"
tab|e :

(C) Force exe'fed by the table on the-v
honzontal ﬂoor

DY Force exerted by the box on the
Earth , |

3 2; AbodylS rEIeased from restata hetght '
b . Habovethe ground. The speed wrth
SRS whuchthebody reachestheground is
SRR Propartional to H{ 8
) o (B) Proportlonal to the square root' )
. ofH S
(C) Proportlonal to H2 L
(D) Independent of H

-3.. The sound wave

(A) Propagates as a Iongrtudlnat
Wave m a material medium

(B) PrOpagates asa transverse wave
in a matenal medium -

() Can propagate in a gaseous

: " medrum but notina solid

(D) Can propagate both in vacuum
and in gaseous medium |

A light ray moves from air to glass

hich of the followmg Is correct ? -
(A) The fre

i

quency and wavelength
“Change| in glass '

' |H 20113 i

" (B) The wavelength’ and the specq of
 (©) The frequency &4 the specq o

fd (Q) Neither the frequency nor the

5t~ A Irquud has attalned its temperature

atmospherlc pressure. When further S

_.(A) lts temperature i mcreases

':'".(B) ltstemperature decreases |

i
!

f;-fA steady electrlc current passes'

,magnetlc Imes of force due to the ~ :

: '(B) Are 'stralght |ines' parallel to the":i':-"j e
f' , conductor and OppOSlte to the il

(2)

propagation chan ge 'n glass.
propagation changdein glass,
- wavelength changes inglass.Only .

“the speed Of propagatmn' ._

changes

of its boiling pomt under normal

heat is supplled to the lquId

(C) Its temperature remams constant:
- andit undergoes phase transmon -

(D) It starts solid |fy|ng lmmedrately

hrough a Iong, stralght conductor The

cu rrent

(A) Are stralght Imes parallel to the

W conductoralong the drrectron of

the current

drrectlon of the current

(C) Orlgrnate from the straight

conductor and also end there

(D) Concentric circles W|th centre at
the conductor

i ‘ Contd-
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Which o ne folloWing deviceg i
basgy on the principle of Fa’aday's
_IaW of g| ectromagneﬁc induction 9
) Trangfomer

®) LED jamp

(C) Incangescentlamp

(D) Magnetic compass

8. The §| ypjt of magnetic fi etd is -
(A) Gauss
(B) Siemens
(C) Tesla
-(D) Weber

9. A particle of charge 1.5 Coulomb
moves from a point A to a point B. If
the work done on the particle is 30
Joule, the electric potential difference
' between the points Aand Bis :

(&) 4.5Volt
(B) 0.05Volt
(C) 20 Volt
(D) 45 Volt

10. The focal length of a concave mirror
" is 12 cm. If an object is placed ata
distance of 8 cm from the mirror, the
image formed:in the mirror is : 3
(A) Virtual, inverted and diminished
(B) Virtual, erect and maghiﬁed )
(C) Reai.- e’rec_:tand'magniﬁed‘ 0

(D) Real, inverted and diminished

IH—2D/18 - L (3)

11.

,-'*—WW

Whatis the waye oar of ,adia‘tion
whose wavelength is2.5 1t ?

(A) 2000 cm"‘

(B) 4000 cm™

(C) 1000 cm™

b2

(D) 3000 cm™

The number of nodal 'plénes in 3s
orbital is :

(A0

B 1

13.

(C) 2
(D) 3

1,0 mole of CO,, contains :
(A) 6:02 x 1022 atoms of C

- (B) 602 x10%2atoms of O
(C) 18-1x 102 molecules of CO,

14,

(D) 3gm. atoms of CO,

The number of grams of HZSO4
presenti in 0.25 mole of H,SO,is:

(&) 0.245

15.

| (A) Electron affinity

(B) 2.45
(C) 24.5
(D) 49.0
Which one of the following factors is

the most important in making fluorine
the strongest oxidising agent ?

19Y
/o/,

20f7<
y"?&

(B) lonisation enthalpy -
(C) Bond dissociation energy
(D) Hydration enthalpy

(Tum over)




16. Theweakestacid among the following

A7

Xenon hexafluoride reacts with silica”

to form a Xenon compound ‘X'. The.

oxidation state of Xenon in ‘X' is :
(A +2 | o
@ Ay o v
€0 "
(D) + 6'_.,1 .

18. KMnOyisusedas: |
(A). Reducing agentand disin'feetant
(B) Reducing agentand antiseptic
(C). Oxidising agent and disinfectant
(D) Oxidising agent and antiseptic

19. The reaction between barium chloride
and sodium sulphate goes to

completion because :

~(A) Barium sulphate is almost '

~ insoluble - :

(B) The solubility 6f barium chloride
decreases :

(C) Lattice energy of barium sulphate
is very high | |

(D) .-The reaction is irrever5|ble in
nature

IH-2D/18
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20 Which oné of th®

metal ions IS dia

L (©) N#*
(D) cu®’

21

22

+(C) Go'rtenand Grendel ﬁ’

23,

~(B) Cytoplasm

..Sandwich model tur
organization of cell membrane was -

‘pro'posed by

magnetic

(A) Co*”
(B8) zn*'

In a prokaryotlc cell,
respiratory enzymes is

(A) Nucleoid

(C) Mesosome -

(D) Chromatophore

of

(A) Danielli and Davson-

(B) Robertson’

(D) Singer and Nicolson

With referene to Endopiasm'c]'-’"‘ﬁ .

: : Reticulum WhICh one s notatype Of

structure'?

(A) Cisternae
(B)" Vesicles
(C) " Tubules

(D) F, particles




24, Granurh s seéﬁm J

25.

25

) Mitocpondrid - -

(B) Chloroplast
(C) Nuclea pc,re-c:omplex

0 ) L\!sosomes

The Plants known as Horsetans

: belOng t

D) Pleridophytes
(C) C:‘uymnospermS

(D) Angiosperms

Which are known as Amphrblans of

Plant ngdom 7
(A) Algae

(B) Fungi /
(3 Bryophytes;

| | (D) Pteridophytes

27.

28.°

Stele is found in which one_.‘.of”t‘he

followings ?

(A Micrdcystis

(B) Saccharomyces |
(C) Porel/a‘ ‘
(D) Adtantum |

Whlch state of Indua has the Iargest

forestarea ?

~(A) Madhya Pragesh

(B) Uttar Pradesh .

H—2D/18

29

30,

1w 10 KT L0 NI 14y,

(C) ArunachalPraggh,

(Q) Andhra Prerjégh

Which ‘one is uged in 'enéfgy'r
generating nuclear reactors 7

(A) Uranium-216

(B) Uranium‘—2“'1‘8'“

-(C) Uranium — 235 '

(D) Uranlum 258":_ .'

WhiCh country has put .forward the '

~ concept of ‘One Sun One World One
- Grid'-? ' '

(A) India

(B) USA

31.

32,

(C) England E

(D) Germany

Accordlng to food habit, what Kind of

teeth are presentin human beings ?
(A) Bunodont . |
(B) Secodont
(C) 'Selenodon.t'

' (D) Lophodont

At which thoracnc vertebrae inhuman -

does the trachea branch ?

(A Sixth

(B) Fourth'
(C) Fifth
(D) SeCOnd

(Turn Over) "._f |




33, WhICh of the following vessels carries

blood with minimum urea ?
'(A) Renal artery

(8) Renal vein

(C) Hepatic vein
" (D) Hepatic por‘tal.vein

34. After ovulation Graafian follicles

regress into ..
(A) Corpus atresia
(B) Corpus callosum

(C) Corpus luteum
(D) Corpus albicans
35. Identify the odd one from the following.
(A) Fimbriae o ey
(B) Isthmus -
(C) Infundibulum
" (D) Labjaminora

' 36. The majoraerosol pollutantin jet plane

" emission s :

" (A) Sulphurdioxide
_(B) Carbon monoxide
(C) Methane
(D) Fluorocarbon

. 37. The Montreal Protocol (1987) is
connected with :

(A) Reduction in CFC

41.

(B) ,Reduction_ in emission of 'gree.n\'

house gases
(C) Reduction in use of energy
(D) Sustainable developme_nt of
- wetlands '

IH-2D/18

(6).

-39,

38.“ Mucor and ASP'ergi”us aré,-;e_xH"?Ples A
of : '
(A) Producers
(B) Primary consumer .
©) SocondaryconsumEr
(D) Decomposer

The natural reservoirs of Phosphoraus

is:
B (A) Atmosphere

(B) Rocks |
' (C) Ocean
(D) Dead organisms d
l‘HO\.N much energy the producer trophic
level will have if the amount of energy
-avaifable at the third t'r'op'hié:-.level is
10.0? L R
(A) 10J

40.

(B) 100 J
(C) 1000J
(D) 10000 J

The digitin the unit place of (2018)2018‘

+(2019)2%19 + (2020202055 :
w7
(B) 4

©) 3 N
@17
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42,

How man y proper subsets of the set
{1,2,3 4 5, g: 7} contain the NUMmberg

‘land 79

(A) 32
(B) 31
(C) 30

- (D) 28

43.

44,

The sum of three numbers is 9§, Ifthe
ratlo of the f'rst to second IS2:3ang
that of the second to the third is 5 8,

then whatis the second number ?
@wsshe

(B) 48

(C) 30 -

(D) 25

For positive integers x, y, z, if

"x:(y+z)_=1:3andz:(x+y)=5:\7.

% (B).2:3

then y : (x+Zz)isequalto: -

(A) 1:2

(C) 1:3

'(0)2:'1'

45.

IH-

IfS={(xy) eR?% y=x+ 1}, thenwhich

one of the following statements is

correct ?

(A) Sisanequivalence relation

2D/18

)

v A

46.

— T

(B) S is a reﬂeiive, but not symmetric
and transitive re|ation ,

(C) Sis symmetric and transitive, but

nota reﬂexlve relation ‘
(D) S is not a reflexive. not a
symmetric and not a transitive
~relation “
Onthe setsA= [-1,4],B=[0. 1]and
C = [- 1, 0], consider the following
relations : = e
= {(x,y) cAxA: X2 +y*=1)
Sy={(x,y)cAxB:x2+y’ =1}
. 83={(x,y)eAxC
S4={(X-JY)GB x C:xzjl-y2= 1}

:x2+yz=1}

" -Then which one of the following

47

options is correct ?

(G ‘Only S, isnota function

(B) OnlyS;and 82 are not functions
(C) Only 82 and S3 are not functions

(D) Only Sy, S; and S, are not
functions .

. How many pairs of x, y ¢ R satisfy

these two equations : x + |y|
x| +y= 6?
(A) 4 '

8and’

- ® 3

(7)

(C) 2
(D) 1

(Turn over)



46, The roots of the quadratic equations 52, Iflog, (logs(logy X)) = 1+ then what is

,_%—?;=§'i'%+l,a+b¢08rel the value of x ?
a®bi s A) 27
d-b ‘
(A) ,.aan (B) 64
C
©)8and-bo o, Ty (C) 125
(D) aandb . | : (D) 512

49. P takes6daysless than Qtofinish a iy | log 5 (1 gt )
53.- The value of (0. 2) Aol ,
piece of work. If both P and Q together ; 5

can finishthe work in 4 days, theh the . ISt
time taken byQto fnnlshthe workis: : (A) 4
(B) 2

(A) 113 days 0 5Lt

; o 0 (C) log (2).
(B) 12days (D) 2log (2)

- (C) 13 days e __ ,
(D) 15days:' - : _ 54. If _co.s,—‘| (E) = 0 then what is the
, — — ay3 2 _ :
50. If the polynomial p(x) = 6x~ + 13x value _ofcgsec'1 (JS) X

+ ax+ Bis divisible by q(x) = 2x° + 7x—4

~ then, which one of the following is (A) -6 &
true ? ' A, 4
®) 0+
(A) 4x-3is a factor of p(x) 2 f
(B) 4x+3'is a factor of p(x) ) o_ =%
(C) 3x+4is a factor of p(x)
(D) 3x-4is a factorof p(x) - (D) h
51. 1f (25) % x (525 . (125)" 5—5x then Y
: 55. What will be the value of (3 cos 80™)
the value of x s : N i i i
- i A . (cosec 10°%) + (2 cos 59°) (cosec 31°) ?
(A) 175 ; A . e/
; . . (A).2 i
(B) 15 | |
! ‘ ' (B) 3
(C) 13 i
(D) 8.5 ey

IH-2D/18 (8) | Contd.



'56.

- 9.

(A) 8meters

Whi(:h0
'Sfa'Sea
(A) Any pointis 2870 dlmenSIona|

(B) Any straight line is. gpg

dimensional :
(Cy A Gircle is tWO dnmensmnal

(D) Any plane is two dimensional

ofthe following slateme‘l,‘ts

If the angles of elevation of the top of
a tower from two points lying at 5
distance of 4 meters and 9 meters from

-the foot are complementary, then What
is the height of the tower 7

(B) 6meters

. (C) 55 meters

58.

(D) 5meters

=

60. A parallelogram cucumscnbmg a i
circleisa: :

(A) Trapezium g
(B) Rhombus ; e
(C) S_q‘uare.

(D) 'Rectangle '

- Read the following pasSage carefully
‘and answer the questrons (Q. Nos. 61to
- 64) choosmg the oorrect alternatives :

Man does not live by food alone. Whereas -

we can do for weeks vl)ithout food, we

. cannot live without water longer than a
128 ' couple of days. Water |s vital to human

health and fitness. Although it is not a

. nutrient as are carbohydrates, fats,

An equilateral AABC is inscribed ina

circle. If Dis a point on the minor arc
BC and the measure ‘of the

~ZCBD =40° then what is the measure -

of the ZBCD ?
(A) 20° |
() 30°

" (C) 45°%

50,

IH~

(D) 60°

proteins, vitamins and minerals, it, infact, -~

o

is a key .nutrient as no life is possible
’W|thout it: Water approxrmates 60 percent

of the body weight of human adults. Itisan

excellent solvenl—more substances are i

- soluble in water than in any other liquid

known so far. This makes it an ideal
constituent of the body fluids which sustain
life supportmg chemical reactions. It

y dlssolves vaned products of digestion and

How many revolutions per minute @ .
wheel of radius 14 cm of a car
will make to maintain a speed of *.

132km/hour ?’
(A) 1250
(B) 1500
(C) 2500
(D) 3000

2D/18

transports them to the rest of the body.

Similarly, it dissolves diverse metabolic’

wastes and helps drain them out of the

- body. Besides, role of water in distributing =~
~ the body heat efficiently, thereby regulatin g

body's temperature Is vital. Water

accomplishes this role ideally because it

has hrghlhermalconduCtlvnyEnsunng rapld .

(9)

( Turn over) b i




heat transfer from one part to the other.

Drinking a lot of water is an inexpensive.
way to stay healthy. Even excess of water
is harmless. Drinking a litré of water, th.e.,
first thing that we do in the 'morning.. is
kidney-friendly. ,
61. Why is water calléd a key nutrient P
(A) Itdissolves different products of
digestion. e
By Nolifeis possible without it.
(C) It carries products to the rest qf
the body. | s
(D) 'lt raises temperature ofthe body.
62: Which of the following statementsis
not true ? ‘ '; '
(A) Water ' regulates . body
temperature. o
(B) Excess wateris notharmful.. |
(C) Excess wateris'nbt har'mle'ssj |
(D) Water transports nutrients to the
’Lbody." : .
63. Water is an ideal constituent of the
body fluids because : '
(A) ltisanexcellent sol'vent:
(E;)_ It dissolves metabolic wastes.
(C) Itdrains wastes oﬁf of the body. .
(D) ltis kidney-friendly. |
64. Whatis the vital role of waterin huma
~ body? o
(A) To sustain life supporting
chemical reactions.

(B) Todissolve wastes.

IH-2D/18 (10)

(9 Toregulate body's temperature,
(D) To regulate excretion of yine.

Answer the questions ( Q. Nos, 65 to
70) choosing the correctalternagivas -

65. The word which means the same as
‘excellenit'is: iy
(A) Terrible -
. (B) Worthless
(©) lnsigniﬁcaint
(Dy Ektremelygood

66. The word obposite in méanir;g to
‘natural’ is :

' (A) Innocent
(B) Real
(Cy Atificial
(D) Simple:

B

N T

67. Study of the relation bé't;;véen th-e‘

organism and their environment s :
'4(A) Demography ‘« »
(B), Ecology” L
(C) Entomdlogy
(D) Genetics .

68. People nvelnglass
houses should not throw stones at -
others.. v

' Pick out the correct word tocomplete
‘the sentence. )
(A) which
(B) whom
(C) those
(D) who

;:E:Contd.

)



69. Whlch of the fo"owmg sentences is

70.

~ (B) Pleaseadvise me how shall| pay

71.
- common TV remote control ?

72.

IH-

Ofrect -
(A) Loty sang sweetly inthe °0nce 4
last evening-
(B) Lata sang in the concert last

EVening 5W691|Y-

(C) Latg sanglastevening sweetlyin .

- the concert- 7
(D) Lata sang in the concert SWEeuV
last evening.

Identify the COrreci sentence :

(A) Pleasé advise me what shall Iido .

with this money.

back your money.

(C) Pleasetellme when we shall 'rheet
again. » '.

(D) Please inform me where canl get
the book

Which of the following is used in the

(',9.{ Ultrasonic wave
‘ (B) LASER wave -

(C) Ra'dio wave

(D) Infrared wave

which of the following is the largest
organ inthe human body ?

(A) Lungs

2p/18

73.

74.

75.

(B) Skin
(C) Brain
(D) Largeintestine

Most significant events in @ political
System are caused by :

(A) Institutional factoré alone

(B) Individual Politicians
(C) Polmcal Grouplngs |

(D) The mteract:on of several drfferent
factors

What is the broposed new name for

‘the Legal Code for India, replacing

Indian Penal Code (IPC) 7
(A) Bharatiya Nyaya Sanhita

(B) Indian Nyaya Sanhita

(C) NavaBharat Sanhita '

' (D) Bharat Penal Code

Who is the present Speaker of Lok
Sabha ? X

“(A) Om Birla

- (B) KodikunnilASL‘Jresh

76.

(C) Bhartruhari Mahatab

. (D) Jagdeep-Dhankar

Which of the following'coun:tries isnot -

a2 member of ASEAN ?

(A) Indonesia. '

~(B) Vietnam

(C) India

(D) Thailand .

(Turn over)
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78.

. (B) University -'

. (C) Secondary

Wwhich of the following Articles of the
|nd|an Constitution makes education
a pundamental Right ?

A) Article 20
(B) Article 21
(C) Article 21A
(D) Article 45

Educatlon and Natlonal Develop- -

ment" is the title of the report of :.

(A) Indian Education Commission,
1882-83 ‘

Commission, 1948-49

Education
: Cammission, 1952-53°

81,

Education.

- (D) Education Commission, 1964-66 -

i

RCFCE Act, 2009 is primarily meant

- forthe children in the age group of .

(A). 3-6years
(B) 6-11years
(C) 6-14years

(D) 6-16years

80.

“Operation Blackboard”,  the

~ programme to equip all primary

IH—

schools in the counfr_y with minimum

required facilities, was recommended
by:

(A) NPE, 1968

(B) NPE, 1986

(C) NCF, 2005
(D), RCFCE, 2009

2D/18

'83.

(12)

How many minutes before"}'{"z_‘ noonis.
itwhen itis 27 minutes Pastip a . 2

(A 30

82.

(B) 93
(C) 49
(D) 94

People in the South have ohserved

~that heavy frost is usually preceded by-

a full moon. They are Convinced that ‘

the full moon somehow genefates the

- frost. Which of the f0|lowmg if

" true, would weaken the people s

conwctlon ?

(A) The temperature must fall below

10 degrees Celsius (50 degrees‘

" “Fahrenheit) for frost tooccur,

- (B) Absence of a cloud cover cools

the ground which causes frost.

(C) People are superstitious,

(D) People are not exp’;e'rts in :

Meteorology.

If AX B implies A + B2 AYB implies
A% - B2 AZB implies (A+B)%, AMB

implies (A—B)?, calcuiatethevalueof 3

(373) M (413):
(A)-1600
(B) 900

(C) 400
(D)- 2500

' '::ffCOntd. ,
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84. Arving  ipisgilisthe sisterge  (C) 16
the g‘randson of my mother.” HOW & | 3 (D) 18
thIS g".l related toANlnd ?

a7. Afthe birthday party‘ of Anil, 2 baby

WA DEtughter boy, 40 persons chose tg kiss hiM e

&) Niece - : 25 chose to shake hands with him._‘IO"
©) Sister . o | ] persons chase to both kiss him and
O Cousn -~ shake hands with him. How many

' : ‘ i ersons turned out at the party ?
85. Which of the following cannot be 5 - 4 : YE :

NUMber of the series ... 64, 125, 215, (A) 35

343', 512,__»,..'.-? e B) 75

I TEAE R

Ll B T (B):28 %5 i
©) 27 ST g .88, In 1980, UP éamedRs, 17 million in
oy L tourist revenue. By 1990, tourist

. revenue doubled and ih 2000, i_t, :

- 86. A, B, C, D_and E are five different reached the sum of Rs. '1-32 million.

integers.. When- written. in the.' Each of the following, if true, may
: ascehdir{g; order of values, th,e‘ explain the trend in tourist ?evenﬁe
" difference between any two adjacent - ' except: |
' integers is 4. D is the greatest and ' (A) The nuvnﬁber of to"u,ists Fia
'Ais the least. B is greater than E but ~increased from 1940 to 1980,
less than C. The sum of the ‘integersb . (B) Average ‘ex:pen‘diture per tourist
is equal to E. What is the pOSiti".e | t‘nas>in'creased. . |
difference betWeen'the lowestand the - (C) Average stay per tourist hag
- highestintegers ? ' _ o - increaséd- e
(A) 8 i | (D) The number of total hotel rooms
(B) 6 : , ‘ g1 has'ir’lCr:eased. 0
H-20/18 ;e AR ety (Tumover)



89.

90.

My next door neighbour lies a lot, In
fact, he only tells the truth on one day
aweek ! One day he told me, “l lie on
Mondays and on Tuesdays.” The next
dayhesaid, “Today is either Thursday,
gaturday or Sunday.” The next day he
said, ‘| lie, on Wednesdays and
Fridays.” On which day of the week
does my neighbour tells the truth ?
(A) Monday

(B) Tuesday

(C) Wednesday

(D) Thursday

In a row of children, Bali is seventh
from the left and Moti is fourth from the

right. When Bali and Moti exchange -
positions, Bali will be fifteenth fromthe

left. What will be Moti's position from
the right ?

(A) Eighth

- (B) Fourth_

01.

IH~-2D/18

| (D) Twelfth

(C) Eleventh

All the teaéher education colleges in

Odisha are under the admlnlstratlve
control of :

(A) SCERT, Odisha.

(B) Directorate of Secondary
Education,

(C) Directorate of Higher Secondary
Education,

(D) -Department of Higher Education,

' (1'4)

92, Teaching is best defined a'_si";

93,

@ Report of ‘the Educatlon,‘ |

94.

(A) Transferring kno“'{ledge from
teachers to learners.

(B) Controlling learneré in the
classroom for timely pr °9re_ass and
completion of the coursg,

(C). Facilitating learning.

(D) Lecturing and explaining,

Who said, “The destiny of India is
being shaped in her classroo'ms" ?

Commlsswn 1964 66
(B) NPE, 1968 |

(C) NPE, 1986

(D) NEP, 2020

SAMS is an integrated portal which

- provides a common platform for

' admission into various:courses

across Odisha through e-admission .
and also several e-Services to.
students. Whatis the full expansion of

 SAMS ?

(A) Students Admission Management
3 System. _
(B) StudentACademic Management
" System. ‘
(C) Student Academic Monitoring
System.

(D) Students Admissioh-Monitori'ng_

System.

Contd.



96. Whlch of the following is not a fu nctlon

- 97. Wh1ch of the following is the hlghest

LRI

AT M (e - AR L ied
IR i SN

95 ACCQrding to NEP—2020 Wthh Ofthe

fOHQWIng age grOUPS corresponds tq

-

e f‘Dlmdatnonzﬂ stage ?
() 3-8 years. |
(B) 8-11 yearé
| (C)! 1114 years
(D) 14.1g years
of edu(:atlonal aims?

(A) Prowdmg dlrectlon to |earnmg
activities. RS ,‘.f ;

(B)JL Providing adequefe resou_rces‘t\fo"
schools.

(%)) Setung standards for evaluatlon

of learning outcomes

(D) Creatlng and sustaining Iearners
motlvatlon

Ievel of teachlng v

(A) Memory level

(B) Reﬂectwe level

(C) ijnderstanding level |
(D) None ofthe above |

~99.

lfi |

g8. B|00m's taxon'Omy of educational

h 3488 E

A

-

objectlves is
(B) A CIaSSlfcatlon of teaching Skl_"S

(C) Aclassification of learning skills.

(D) A collection of hieﬂrarchical

classification of educational
- objectives.

is deﬁned as relatlvely

'permanent change mbehawour a

(A Creatlwty ‘ o o

' ‘(B) Psychology L

»

(C) Learning ’ o ;
(D) Attention |

p,
4

100.Whatis the expansion of CABE ?

(A) Central Academlc Body for
- Education.

(B) Consfitutiona‘l Amendment for-

Broader Educatlon

(C) Central Authorlty for Betterment

of Educatlon

(D) Central Advisory Board of

Education.
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